05.18 TRUBOPROVOD NAPORNOGO VOZDUKHA (DETALI)

5.13

==~ ~~7° T .77 T T T R 1
| RN - EETE g iyl 2]
I _ | | | ﬁ.@ _ _ N _
| | : @ w__%fmh_&}__%ﬂi |
I | _ I _
I e e Y e ey ————
i 1 et W i f i I £ te
I = .ﬁrm““ 2, .p_._... ¥ . h__n Fh a“__., o
| . -3 I i Fa
" y L - AF =2 . m._M_ #9 Fil =
- : . ——
“ “ - _ & = (S
RELEH LI s 155 (S B
“ =8 e ._....n.u _
— =] I
“ .ﬂr& “ .ﬂ e e LAY .m___mu = AVH/_.H _m____J
| I I__u._.“ 4 ._.,__._ Y
_ gl Tw - "
_ﬂ. # _II.Lin| ..”........p =
“H ﬂ-.-.-ll u_...u_ - .__._”ﬂ.ﬂ.n!__ i ‘.f
- A =4 WR i T
_| ||||| +||||LHI||||LP.||||Lrir..lll._-l_rlll_ulL.ulJﬁ.r |||||
| _ I i _ | |
| L 1
I | | RERWY, _ _ _
_ }
BeREV At RN SRS Y
_ _ _ _ i
| i Hun | M 9 | | RN S
| | |
b I N SN I | N J




Ne B Ne o
Haumenosanue [Ipumeuanue
pPUCYHKE| KaraJory
005 | 4436540200 [IImanr TU 40, 6 x 500 DKL-DKL 14 x 1.5
005a | 4436540200 |[IInanr TU 40, 6 x 500 DKL-DKL 14 x 1.5
006 | 4436540030 [Ilmanr TU 40;4 x 320 DKL-DKL 12 x 1.5
007 | 4436540060 [Ilmanr TU 40, 4 x 400 DKL-DKL 12 X 1.5
007a | 4436540060 |[lInanr TU 40, 4 x 400 DKL-DKL 12 X 1.5
007b | 4436540060 |[Ilmanr TU 40, 4 x 400 DKL-DKL 12 X 1.5
008 | 4436540050 [Imanr TU 40;4 x 670 DKL-DKL 12 x 1.5
009 | 4436120810 |Kiaman oOpaTHBII 443 612 081 001
010 | 3194110420 [I'opnoBuHa Js 8 CSN 13 7880
010a | 3194110420 |I'opnoBuHa Js 8 CSN 13 7880
011 | 3194110400 [I'opioBuHa Js 6
01la | 3194110400 |I'opnoBuHa Js 6
011b | 3194110400 [T'opioBuHa Js 6
012 | 3194110390 [I'opioBuHa Js5
012a | 3194110390 |l'opnoBuHa Js5
013 | 3194110470 [Tyuep Js 8
013a | 3194110470 |tyuep Js 8
014 | 3194110390 [I'opnoBuHa Js5
014a | 3194110390 |['opnoBuHa Js5
014b | 3194110390 |T"opioBuHa Js5
015 | 2053740734 [Tyuep
016 | 2053740724 [tyuep
017 | 3194110380 [Tymep Js 8 CSN 13 7850
018 | 3119013120 |KoibI10 YIUIOTHUTEIHEHOE 16 x 20 CSN 02 9310.2
019 | 2053740074 |Tpoiinuk
020 | 2052520124 |T"aiika
020a | 2052520124 |l"aiika
022 | 4436111500 [ITpoknaaka 12 x 20 x 1,5 4200.04
022a | 4436111500 |[Tpoknaaka 12 x 20 x 1,5 4200.04
025 | 3119013060 |Kosblio YyIIIOTHUTEIBHOE 12 x 16 CSN 02 9310.2
027 | 3119080620 |3axum 6 CSN 13 7993.22 T 815
028 | 4436111200 |[KomeHo Z 691 16 831
029 | 3194110340 [I'opioBuHa Js 5 CSN 13 7850
030 | 2053650654 |Mydra TpyOuaTas
030a | 2053650654 |Mydra TpyOuaras
031 | 2053650644 |Mydra TpyOuaTas
03la | 2053650644 Mydra TpyOuaras
032 | 3111102090 [I"aiika M12 x 1,5 1SO 8675 - 04 MKS 720
032a | 3111102090 |I"aiika M12 x 1,5 1SO 8675 - 04 MKS 720
032b | 3111102090 [T"aiixa M12 x 1,5 1SO 8675 - 04 MKS 720
033 | 3111102110 [aiika M14 x 1,5 1SO 8675 - 04 MKS 720
033a | 3111102110 |l"aiika M14 x 1,5 1SO 8675 - 04 MKS 720
034 | 2053760014 |[KomeHo
036 | 3191102210 [3axum M10
037 | 3119013240 Koo YyIIIOTHUTEIHHOE 22 x 27 CSN 02 9310.2
038 | 4436121560 |CoenmnHeHne KOHTPOJIBHEIC 03.9701.00 A124.20.21.15/72
039 | 2053651004 [HTymep
040 | 3119013300 |KoibI10 YIUIOTHUTEIBEHOE 27 x 32 CSN 02 9310.2




Nes Ne o
Haumenosanue [Ipumeuanue

pPUCYHKE| KaraJory

041 | 2052520104 |I"aiixa

042 | 3119080640 |3axxum 8 CSN 137993.2 T 815

043 | 3119013080 |KoibI10 YIUIOTHUTEIEHOE 14 x 18 CSN 02 9310.2

044 | 3119080220 |I"opnoBuHa 8 T815 CSN 13 7854.22

045 | 2053760134 |Koaeno

046 | 3111102140 |I"aiixa M16 x 1,5 1SO 8675 - 04 MKS 720

047 | 3191103880 |IIpobka M18x 1,5

048 | 3119013170 |KoibI10 YIUIOTHUTEIHEHOE 18 x 22 CSN 02 9310.2

050 | 2053651214 [I'opioBuHa




	05.18 TRUBOPROVOD NAPORNOGO VOZDUKHA (DETALI)

